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@ sin A
@ cosA
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@ sinB
® cosB
® tan A



AABC ©f| A AABHD: 180° - /B
sin(180° - /B) = = O|B& h = oxnO
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. AABC = iah = gac sin(180° — /B)
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a a
h

® =.c.cos(180° - /B) @ %,C,Sin(180°— /B)
h

® —,c,sin(180° - /B)
&




3.

= . = i
2] P VY
[) C 5 AB

A

@®
1:v2
o @ 1:2
® 3
14



4. T2 I"A PA, PB & ¥9] HAeolx
H A, BE HHolth /PAB = 60° ¥
o, AABP 9] Ho|=?

® 36 V3cm? @ 24cm? B 24v2cm?
@ 123 cm? ® 12cm?



5. th& 2¥7 22 AABC ©] Wol7t 7v3em? A W, A 9] 371&7?
(F, 0° < A <90°)

@® 30° @ 45° ® 50° @ 60° ® 65°



